Solving Quadratic Equations (A)

Name: Date:

Solve each equation for x.

9x* +88x+ 63 =0

81x* +117x+40 =0

10x* —37x+30 =0

12x> —28x—49=0

27x* +48x+5=0

4x* —81 =0

24x> +50x—9=0

8x* —53x+30=0

5x +12x+7 =0

5x2 —9x+4 =0

7x>+10x—8=0

9x* —18x+5=0

9x* +23x—12=0

5x> —7x+2=0

48x* — 82x+ 35 =10

54x* —21x—20=10

24x* +49x +15=0

36x* —91x+49 =0

54x> +57x —7 =0

40x* —77x4+9 =0
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Solving Quadratic Equations (A) Answers

Name:

10.

9x* +88x+63 =0
(x+9)9%%+7)=0
7

X = _9’_6

81x* 4+ 117x+40=0
(9x + 8)(9x+5) =0
8 5

X="9"%

10x* —37x+30 =0
(5x—6)(2x—5) =0
x=13,21

12x> —28x—49=0
(2x—7)(6x+7) =0

—21 _11
x=35,—1¢

27x>+48x+5=0
(3x+5)(9x+1) = 0
x=-12 1

4x* - 81 =0
(2x— 9)(2x+9) = 0
x=41 —41

24x* +50x—9 =0
(4 +9)(6x—1) =0
1

—_211
X=—27,3

8x? —53x+30=0
(x—6)(Bx—5)=0
X=06,

—~

o@|ut

5x*+12x+7 =0
(x+1)(5x+7)=0
X = —1,—1%

5x2 —9x+4=0
(x—1)(5x—4)=0
x=1,

ul|

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

7x2 +10x — 8 =0
(x+2)(7x—4)=0
x:—Z,g
9> —18x+5=0

(3x—5)(3x—1)=0

—12 1
x=15,3

Ox*>+23x—12=0
(9x — 4)(x+3) =0

-4 _
x=73,—3

5x%*—7x+2=0
(x—1)(5x—2) =0

2

x=1,¢

48x* — 82x+ 35 =10

(8x—7)(6x—5)=0

1=}

54x* —21x—20=0

(6x—5)(9x +4) =0
5

X:g,—

24x* +49x +15=0

(3x+5)(8x+3) =0

- _12 _3
x=-13,—3

~—~

CIES

36x* —91x+49 =0
(9x—7)(4x—7)=0

_ 713
x=3,13

54x> +57x —7 =0
(9% — 1)(6x +7) = 0

—1 _11
x=g3,—15

40x* —77x+9=0
(5x—9)(Bx—1)=0

1

— 14
x =1z, 3
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Solving Quadratic Equations (B)

Name: Date:

Solve each equation for x.

9x%2 — 77x+40=0 8x) —5x—3=0
24x* +19x—9 =0 35x —71x+24 =0
15x2 +2x—24=0 16x%> +82x+45 =0
48x% —22x—-5=0 18x2 —13x+2=0
16x% +24x—27 =0 16x2 —1=0

32x2 +20x—25=0 12x2 —19x—21=0
24x* +11x+1=0 27x2 —30x+7=0
42x* —61x+14 =0 30x2 —19x—5=0
14x> —9%x+1=0 36x2 —12x+1=0
18x* —25x+8=0 21x2+20x—9=0
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Solving Quadratic Equations (B) Answers

Name:

10.

9x* —77x+40 =0
(x—8)(9x—5)=0
X:S,g

24x* +19x—9 =0
(3x—1)(8x+9)=0

—1 _11
x=3,—13

15x*> +2x—24 =0
(3x+4)(5x — 6) = 0
x=-1111

48x* —22x—5=10

(6x+1)(8x—5)=0
5

X=—¢3

16x%2 +24x—27 =0

(4x —3)(4x +9) = 0

3 _91
X=3,—25

32x4+20x—25=0
(8x— 5)(4x+5) = 0

—5 _11
x=3, -1y

242+ 11x+1=0
(3x+1)(8x+1) =0
1 1

X="3"3%

42x* —61x+ 14 =0
(7x—2)(6x—7)=0

_ 211
x=21z

14x* —9x+1=0

(2x—1)(7x—1)=0

_—

18x* —25x+8 =0

(9x—8)(2x—1)=0
8 1

X=179:3

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

8x* —-5x—3=0
(8x+3)(x—1)=0
x:—gvl

35x2 —71x+24 =0
(5x—8)(7x—3) =0
x:lgv

~—~

Njw

16x*> +82x+45=0

(8x+5)(2x+9) =0
5

Xx=—2,—41

18x* —13x+2=0

(9x—2)(2x—1)=0

1

X = )2

Nel| V]

16x* —1=0
(4x+1)(4x—1)=0

_ _11
X="%1

12x* —19x—21=0

(4x+3)3x—7)=0
_ 3

X = —1,2%

27x* —30x+7=0
(3x—1)(9%x—7)=0
17

X=133

30x> —19x —5=0
(5x+1)(6x—5) =0

_ _15
X="%5%

36x> —12x+1=0

(6x—1)(6x—1)=(6x—1)2=0

1
6

21x*4+20x—9=0
(7x+9)(3x—1)=0
1

—_12 1
x=-13,3

X =
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Solving Quadratic Equations (C)

Name: Date:

Solve each equation for x.

49x2 —4 =0 36x> +53x—63=0
54x> +93x+40 =0 7x* +67x+36 =0
36x2 —25x+4 =10 12x* = 23x+5=0
8x* +38x+35=0 28x*+87x+ 54 =0
27x* —21x+4=0 54x* —39x—-5=0
7x* —45x — 28 =0 63x> 4+ 20x—32=0
6x> +5x—1=0 2x> —7x—15=0
32x> +60x+7=0 4> +21x—18 =0
72x* +85x+25=0 X +6x+8=0
27x* +66x — 16 =0 32x2 —12x—-9=0
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Solving Quadratic Equations (C) Answers

Name:

10.

49x% — 4 =0
(7x—2)(7x+2) =0

-2 _
X=3,

54x* +93x+40=0

(6x+5)(9x+8)=0

_ _5 _8
X= =679

NN

36x> —25x+4 =0
(4x—1)(9x—4)=0
14

X=1%9

8x*+38x+35=0
(4 + 5)(2x+7) = 0
X= —1%7 —3%

27x* —21x+4 =0
(9x—4)3x—1)=0
4 1

X=173,3

7x> —45x — 28 =0
(7x+4)(x—7)=0

- _4
x=-3,7

6x>+5x—1=0
(x+1)(6x—1)=0

x=-1,1

32x2+60x+7=0
(8x+ 1)(4x 1+ 7) = 0

—_1 13
x=—3,—13

72x* +85x+25=0
(8x+5)(9x+5)=0
5 5

X="% "9

27x* +66x—16 =0
(9x—2)(3x+8) =0

—2 _9n2
X=5,—23

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

36x* 4+ 53x—63=0
(4x+9)(9x—7) =0

7
9

)(:—2;1}7
7x* +67x+36 =0
(x+9)(7x+4) =0

X = —9,—%

12x2 —23x+5=0
(4x—1)(3x—=5)=0
X= %,1%

28x* +87x+54 =0

(4x+9)(7x+6) =0
x=-21 6

54x* - 39x - 5=0
(9x+1)(6x—5) =0

X=—gz,

O
o

63x% + 20x — 32 = 0
(7x — 4)(9x+8) = 0
4

4 _8
X=17"9

2% —7x—15=0
(x—5)(2x+3) =0
x=5-13

4x> +21x— 18 =0
(x+6)(4x—3)=0

— _6 3
Xx=—6,4

x> +6x+8=0
(x+4)(x+2)=0
x=—4, -2

32x* —12x—-9=0

(4x —3)(8x+3) =0

-3 _
X=73,

ec][ON]
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Solving Quadratic Equations (D)

Name: Date:

Solve each equation for x.

63x> +41x+6 =0 x*—2x—35=0

9x* —44x+32=0 20x> +43x+21=0
9x* +26x—3=0 45x* +8x—4 =0

18x> +45x+7 =10 63x* —22x—-8=0
5x2 —37x —72=0 20x> —73x+63 =0
72x* +x—56=10 72x> —23x—35=10
10x> —19x+6 =0 36x> —12x—35=0
30x> —17x+2=0 30x> —23x—40=0
18x* —45x +25 =0 81x* +90x + 16 =0
28x> —27x —81 =0 64x> — 64x —9 =0
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Solving Quadratic Equations (D) Answers

Name:

10.

63x* +41x+6=0

(7x+3)(9x+2) =0

7079
Ox? —44x+32=0
(x—4)9x—8)=0

—4 8
x=4%,3

X =

9x* +26x—3=0
(9x—1)(x+3) =0
X=é7—3

18x* +45x+7 =0
(3x+7)(6x+1) =0

—_921 1
X=-23—5

5x2 —37x—-72=0
(x—9)(5x+8) =0
x=9,-12

72x* +x—56=10
(9x+8)(8x—7) =0

X=—

NeJlee)

7
» 8

10x> —19x +6 =0
(2x—3)(5x—2)=0

_q1 2
x_12,5

30x> —17x+2=0
(5x—2)(6x—1)=0
2

21
X=735:5

18x> —45x+25=10
(3x—5)(6x—5)=0

— 12 5
x=13,%

28x* —27x—81=0
(7x+9)(4x —9) = 0

— _12 91
x=—-15,24

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

x> —2x—35=0
(x=7)(x+5) =0
x=17,—5

20x* +43x+21=0
(4x +3)(5x+7) =0

—_3 _12
x=—5,—1f

45x* +8x—4 =10
(5x+2)(9x—2)=0
_2 2

579
63x* —22x—-8=0
(9x+2)(7x—4) =0

—_2 4
X="97

X =

20x* —73x+ 63 =0
(5x—7)(4x—-9) =0
x=1%27

72x% — 23x — 35 = 0

(8x—7)(9x+5) =0

x=1 -

36x2 — 12x — 35 = 0

(6x—7)(6x+5) =0
1 5

x=1g,—%

O|ut

30x2 —23x—40=0

(6x+5)(5x—8) =0
5

X = —% 1%

81x* +90x+16 =0
(9% +2)(9x+8) =0
2 8

X="5:79

64x* —64x—9=0
(8x+1)(8x—9) =0

__ 141
X = 8,18

Date:
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Solving Quadratic Equations (E)

Name: Date:

Solve each equation for x.

72x* +113x+36 =0

63x* —76x+21=0

12x2 +40x—7=0

8x* —22x— 63 =10

42x* —17x—4 =0

45x* +62x+21 =0

5x2 —24x—-5=0

16x*> — 40x +25=0

42x* —41x+5=0

15x% —28x+12 =0

10x*> +21x— 10 =0

54x* +3x—2=0

10x* +43x+28=0

10x* +13x—-30 =10

24x* —7x—6=0

20x* +29x—36 =0

20x* +3x—9=0

54x> +33x+4=0

36x2 —19x—7=0

8x* —18x—35=10
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Solving Quadratic Equations (E) Answers

Name:

10.

Solve each equation for x.

72x* +113x+ 36 =0

(8x+9)(9x+4) =0

x= 13-4

63x> —76x+21 =0

(9x—7)(7x—3)=0
7 3

X=9:7

12x2 +40x—7=0
(2x+7)(6x—1)=0
1

—_311
X=-33,5%

8x* —22x— 63 =10
(4x+7)(2x—9) =0
x=-13 41

42x* —17x—4 =0
(7x — 4)(6x + 1) = 0
4

X:7./

_1

6
45x2 4+ 62x +21 =0
(5x+3)(9x+7) =0
3 7

X="5 "%

5x2 —24x—-5=0
(5x+ 1)(x —5) = 0

- _1
X=—g,5

16x* —40x +25=0
(4x —5)(4x —5) = (4x—5)* =0

—_11
X—l4

42x* —41x+5=0
(7x —1)(6x—5)=10
=1
15x* — 28x+ 12 =10
(5x—6)(3x—2)=0
2

—11
x=1z,3

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

10x% + 21x — 10 = 0
(5x—2)(2x+5) =0

—2 _9l
X=¢,—23

54x* +3x—2=0
(9x+2)(6x—1) =0

—_21
X="9%

10x* +43x+28=0
(2x+7)(5x+4)=0

— _31 _4
x=-33,—5%

10x* +13x —30=0
(2x+5)(5x—6) =0
x=-23,11

24x> —7x—6=0
(8x+3)(3x—2)=0

- _3
X=—3z,

winN

20x>4+29x—36 =0
(4x+9)(5x—4) =10
4

— _921 4
X=—24,3

20x*4+3x—9=0
(4x+3)(5x—3) =0
3 3

X="%45

54x* +33x+4=0
(6x+1)(9x+4) =0
x— _1 _4

6’ 9

36x2 —19x—7=0
(9% — 7)(4x + 1) = 0
7

X:§,—

8x* —18x—35=0
(4x+5)(2x—7)=0

1 1
X = —17}35

TSN

Math-Drills.com




Solving Quadratic Equations (F)

Name: Date:

Solve each equation for x.

15x> +53x+42 =0

16x%> +22x—45=0

20 —9%x+1=0

24x* 4+29x—4 =0

7x* —33x—-10=0

21x* + 65x +24 =0

4x*> —29x — 24 =0

72x>+79x+14 =0

72x>+x—56=0

27x* 4+ 60x+25=0

18x2+3x—1=0

14x* —31x—10=0

4x* —16x—9=0

12x2 —19x+4 =0

20x24+9x+1=0

36x> —5x—24=0

X*+11x+24=0

16x% 4+ 78x+27 =0

16x* +30x+9 =0

8x* +79x+63=0
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Solving Quadratic Equations (F) Answers

Name:

10.

15x* +53x+42=0
(5x+6)(3x+7)=0
X = —1%, —2%

16x%> +22x—45=0
(2x+5)(8x—9) =0

— _21 11
x=—25,1g

20x* —9x+1=0
(4x—1)(5x—1)=0
11

X=15

24x* 4+29x—4 =0
(3x+4)(8x—1)=0

1

— _11
x=-13,3

7x* —33x—10=0
(x—=5)(7x+2)=0
x=5, -2

21x* +65x +24 =0
(3x+8)(7x+3)=0

— _22 _3
X=-235,—3

4x*> —29x — 24 =0
(4x+3)(x—8) =0

- _3
x=-%,8

72x>+79x+14 =0
(9% + 2)(8x + 7) = 0

_ 2 7
X="9,"3
72x* +x — 56 =

27x* 4+ 60x+25=0

(3x+5)(9x+5) =0

—_12 _5>5
x=-15,-3

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

18x* +3x—1=0
(3x+1)(6x—1) =0

- _1
X= -3,

QN[ =

14x* —31x—10=0
(7x+2)(2x—5) =0

_ _ 291
X = 7,22

4x* —16x—9=0
(2x+ 1)(2x—9) = 0

_ _ 1 4p1
X = 2,42

12x> —19x+4 =10
(3x—4)(4x—1)=0

— 111
x=13,4

20x24+9x+1=0
(5x+1)(4x+1) = 0
11

X="5 "1

36x> —5x — 24 =0
(4x+3)(9x—8) =0

- _338
X=—%%

W

X +11x+24=0
(x+3)(x+8) =0
x=-3,-8

16x*> +78x+27 =0
(8x+3)(2x+9)=0

_ _3 _y1
X=—3, 42

16x>* 4+30x+9=0
(8x+3)(2x+3)=0

—_3 _11
x=—3,— 15

8x2+79%x+63=0
(8x+7)(x+9)=0

- _7 _
x=-5,-9
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Solving Quadratic Equations (G)

Name: Date:

Solve each equation for x.

2x> —17x+35=0

27x* —48x—35=0

42x* —41x+5=0

9x* — 74x+ 16 = 0

32x* —76x+9=0

49x* +49x+ 6 =0

6x*+49x+8=0

20x* +51x+28 =0

7x>+15x— 18 =0

6x* —29x—42=0

35x> —39x+10=0

45x* +58x+ 16 =0

6x>*+17x+7=0

49x% —98x+ 45 =0

45x% +44x — 12 =0

9x* —10x+1=0

35x% —48x — 27 =0

24x* —83x+ 63 =10

182 +7x—1=0

12x>* +17x—40=0
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Solving Quadratic Equations (G) Answers

Name:

10.

2x* —17x+35=0
(x—=5)(2x—=7)=0
X:5,3%

27x* —48x—35=0
(3x—7)(9x+5)=0

_ 921 _5
X=23,—%

42x* —41x+5=0
(6x—5)(7x—1)=0
5 1

X=%7

9% — 74x+ 16 =0
(9x—2)(x—8) =0

— 2
x=%5,8

32x* —76x+9=0
(8x—1)(4x—9)=0

— 191
X=g,23

49x* +49x+ 6 =0
(7x+1)(7x+6) =0
1 6

X==7.77

6x> +49x+8 =0
(x+8)(6x+1)=0
X= —8,—%

20x2 4+ 51x+28 =0
(5x+4)(4x+7) =0

— _4 13
x=—z,—13

7x* +15x— 18 =0
(7x—6)(x+3)=0

x:g,—B
6x* —29x—42=0

(x—6)(6x+7)=0
Xx=6,-11

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

35x> —39x+10=0
(5x—2)(7x—5)=0
2 5

X=57

45x* +58x+ 16 =0
(5% +2)(9x + 8) = 0
2 8

X="5"9

6x* +17x+7 =0
(2x+1)(3x+7)=0

—_1 91
X=—3, 23

49x% —98x+ 45 =0

(7x—9)(7x—-5) =0
5

x=13,3

45x*> +44x — 12 =0
(5x+6)(9x—2)=0
r= -1k

9x> —10x+1=0
(x—1)9%x—1)=0

1

x=1,3

35x2 —48x - 27 =0
(7x+3)(5x—9) =0

— _3 14
x=—371z

24x* —83x+ 63 =10
(3x—7)(8x—9)=0
x=2314

182 +7x—1=0
(9% — 1)(2x + 1) = 0
1

ng,—

12x>* +17x—40=0
(4x—5)(3x+8) =0

— 11 _»2
x=14,—-2%

N|[=
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Solving Quadratic Equations (H)

Name: Date:

Solve each equation for x.

5x* —43x+24=0 18x> —53x+20=0
24x* —47x — 21 =10 27x* — 60x + 25 =0
18x* +x—-5=0 5x% +24x—36 =0
45x% +29x—30 =0 48x* —34x—-5=0
32x> —92x+63 =0 42x* +25x+3 =0
27x> —12x—4 =0 42x* +103x+63 =0
49x> +63x+8=0 40x> +69x+8=0
8x* —17x+2=0 63x> —64x+16 =0
4x* —20x+9 =0 24x* +2x—35=0
4x* —19x—-5=0 72x* —23x—4=0
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Solving Quadratic Equations (H) Answers

Name:

10.

5x* —43x+24=0
(5x—3)(x—8)=0

-3
x=7z:,8

24x* —47x—21=0
(3x—7)(8x+3)=0
13

X=123,—3

18x> +x—5=0
(9x+5)(2x—1)=0

—_>51
X=—3,3

olul

45x* +29x — 30 =0
(9x — 5)(5x+ 6) = 0
5

X = 6/—1%

32x* —92x+63 =0
(4x —7)(Bx—9) =0
x=13 1%

27x* —12x—4 =10

(9x+2)3x—2)=0

- _2
X=—3,

—~

winN

49x* +63x+8=0
(7x+1)(7x+8) =0

—_1 11
x=—3,-1z

8x* —17x+2=0
Bx—1)(x—2)=0

_1
X=3,2

4x> —20x+9=0
(2x—9)(2x—1)=0

— 41 1
Xx=49,3

4x* —19x—5=0
(4x+1)(x—5)=0

. 1
X__Z’S

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

18x* —53x+20 =0
(2x—5)(9x— 4) =

i= b3
27x* —60x+25=0
(3x—5)(9x—5)=0

12 5
x=135,3

5x* 4+ 24x —36 =0
(5x—6)(x+6)=0
x=11,-6

48x* —34x—-5=0
(8x+1)(6x—5) =0

—_15
X="85%

42x%>+25x+3 =0
(7x + 3)(6x+1) = 0
3 1

X=77"%

42x* +103x+ 63 =0
(6x +7)(7x +9) = 0
x=—-13,—12

40x% + 69x + 8 = 0
(8x+1)(5x+8) =0

—_1 _13
x=—3,—1z

63x* — 64x+ 16 =0
(7x —4)(9x—4) =0
4 4

X=7:9

24x*4+2x—-35=0
(4x +5)(6x—7) =0

—_11 11
x=—-15,1¢

72x* —23x—4=0
(8x+1)(9x—4)=0

1
8"

—~

X=—

CIES
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Solving Quadratic Equations (I)

Name: Date:

Solve each equation for x.

30x2 -~ 13x -3 =0 16x* +74x+9=0
42x* —41x -8 =0 35x2 —22x—24 =0
9x* 4+ 19x — 24 =10 9x* —31x—-20=0
27x* +60x—7 =0 5x2 +19x—4=0

48x* +98x+49 =0 56x* +59x+15=10
48x*> — 86x +35 =10 6x> —25x+24 =0
64x> — 64x —9 =0 24x* —55x — 24 =0
15x> —14x—49 =0 40x* +11x—2=0
18x* —45x —8 =10 18x* —9x—35=0
16x* +22x—-3 =0 4x* +27x+35=0
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Solving Quadratic Equations (I) Answers

Name:

10.

30x) —13x—-3=0

(6x+1)(5x—3)=0

6

42x* —41x—8=0

(7x — 8)(6x+1) =0
11

x=13,—3

—~

X=—

ullw

9x* 4+ 19x —24 =0
(9x—8)(x+3)=0
X=g7—3

27x* +60x—7 =0
(3x+7)(9x—1)=0

1

— _71
X=-23,3

48x* +98x+49 =0
(6x+7)(8x+7) = 0
x= 1% 7

48x* — 86x + 35 =0
(6x—7)(8x—5)=0

—11 5
x=1g,3

64x2 — 64x — 9 =0
(8x—9)(8x+1) =0
1 1

x=1g —3

15x> — 14x—49 =0
(5x+7)3x—7)=0
x=-1221

18x> —45x -8 =10
(3x— 8)(6x+1) =0
=2t

16x*> +22x—3=0
(8x—1)(2x+3)=0

—1 _q1
x=g3,—15

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

16x* +74x4+9=0
(2x+9)(8x+1)=0

_ a1 _1
X = 42, 5

35x% —22x—24 =0
(5x—6)(7x+4) =0
1 4

x=15,—3

9x> —31x—20=0
(x—4)(9x+5)=0

—4 _>
x=4,—3

5x2 +19x—4 =0

(x+4)(5x—1) =0

X= —4,%

56x> +59x+ 15 =0

(7x+3)(8x+5)=0
3 5

X=77."%

6x* —25x+24 =10
(2x—3)(3x—8)=0
x=13,22

24x* —55x —24 =0
(3x—8)(8x+3) =0

—22 _3
X=23,—3

40x* +11x—2=0
(8x—1)(5x+2)=0

_ 1
X_§7

—~

[S21]\]

18x> —9x—35=10
(6x+7)(3x—5)=0

—_11 12
x=—1¢,1%

4x* +27x+35=0
(4x+7)(x+5)=0
x:—lﬁ,—S
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Solving Quadratic Equations (])

Name: Date:

Solve each equation for x.

30x> —83x+56 =0 42x* +71x+30=0
56x2 +27x—5=0 24x* —13x—-7=0
12x> +16x—35=0 8x* —59x+21=0
30x*+31x+5=0 10x* — 21x— 10 =10
35x> —73x+18=0 32x*> +76x+35=0
81x* —54x—7 =10 35x* — 81x+40 =0
18x* —39x -7 =0 63x>+23x+2=0
24x* +67x+45 =0 202 +x—-12=0
45x%> —121x+72=0 24x* +58x+9=0
8x* 4+ 81x+81=0 2x*+x—-6=0

Math-Drills.com




Solving Quadratic Equations (J) Answers

Name:

10.

Date:

Solve each equation for x.

30x* —83x+56 =0
(6x—7)(5x—8) =10
X = 1%, 1%

56x* +27x—-5=0
(8x+5)(7x—1) =0

_5
87

—~

X =

N

12x* +16x—35=10
(2x+5)(6x—7) =0

— _921 11
x=-25,1¢

30x>+31x+5=0
(6x+5)(5x+1) =0
5 1

X="%"5

35x2 —73x+18=0
(7x—2)(5x—=9) =0
X= %./1%

81x* —54x—7=0
(9%x+1)(9x—7)=0

- _1
X=—y3,

O

18x* —39x—7 =0
(3x—7)(6x+1) =0

—921 _1
x_23, c

24x%* + 67x+45=0
(8% + 9)(3x + 5) = 0
x=-14 —12

45x2 —121x+72 =0
(9x —8)(5x—9) =10
X= g,l%

8x* +81x+81=0

(x+9)(8x+9)=0
x=-9, —1%

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

42x* +71x+30=0

(7x+6)(6x+5) =0

_ _6 _5
X= =7 "%

24x* —13x—-7=0

(8x—7)3x+1) =0
x=1 -

W=

8x> —59%x+21=0
(x—7)(8x—3) =0
x:7,%

10x> — 21x—10=0
(5x+2)(2x—5)=0

_ _2 91
X=-%,23

32x>+76x+35=0
(4 + 7)(8x+5) = 0

e=-13,-}

35x* — 81x+40 =0

(5x—8)(7x—5)=0
5

x=1%,3

63x* +23x+2=0
(9% +2)(7x+1) =0
2 1

X=79,77

202 +x—-12=0
(4x — 3)(5x + 4) = 0
=i

24x* +58x+9=0
(4x +9)(6x+1) =0

<= 21,1
2x*+x—6=0
(x+2)(2x—3)=0
x=-2,11
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